Abundant Numbers

To find the factors of a number, you have to find all the pairs of numbers that multiply
together to give that number.

The factors of 48 are:

e 1land 48
2 and 24
3and 16
4 and 12
6 and 8

If we leave out the number we started with (48) and add all the other factors, we get 76:
1+2+3+4+6+8+12+16+24=76

So ... 48 is called an abundant number because it is less than the sum of its factors (without
itself) (48 is less than 76.)

Task:

e There are 22 abundant numbers between 1 and 100 (48 is one of them).

e Find at least 11 more of them and prove it.

e On Seesaw we want to see your workings out to prove you have found 11 or
more abundant numbers.

e HINT: Start by eliminating all the prime numbers between 1 and 100.
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A perfect number is what we call a number where the sum of its factors (without itself) is
equal to the number.



